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Chapter 1   Accounting and the Business Environment

1) Financial statements provide information about business activities to decision makers.

Answer:  TRUE

Diff: 1
Page Ref: 2

2) Investors provide money to a business to begin operations.

Answer:  TRUE
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3) Not-for-profit organizations need accounting information, as do profit-oriented organizations.

Answer:  TRUE
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4) The designation CA stands for Certified Public Accountant.

Answer:  FALSE
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5) A proprietorship can have two owners, so long as they are husband and wife.

Answer:  FALSE
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6) An organization, for accounting purposes, stands apart from other organizations and individuals as a separate accounting entity.

Answer:  TRUE

Diff: 1
Page Ref: 11

7) The reliability characteristic means that accounting information is free from error and bias, i.e., objective.

Answer:  TRUE
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8) The going-concern assumption states an entity will remain in operation for only the next accounting period.

Answer:  FALSE
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9) The accounting equation can be stated as assets + liabilities = owner's equity.

Answer:  FALSE
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10) Assets are economic resources of a business expected to be of benefit in the future.

Answer:  TRUE
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11) Owner's equity is often referred to as net assets and represents the residual amount of business assets, which can be claimed by the owner.

Answer:  TRUE
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12) An owner investment would increase the assets and decrease the liabilities of the firm.

Answer:  FALSE
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13) The purchase of supplies on account would have an effect on the owner's equity of the firm.

Answer:  FALSE
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14) One way of increasing the equity of a business is to increase a liability.

Answer:  FALSE
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15) The recording of an owner withdrawal has the same effect on owner's equity as the recording of an owner investment.

Answer:  FALSE
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16) When a revenue is recorded, the asset account Cash is always increased along with owner's equity.

Answer:  FALSE
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17) The balance sheet lists all the entity's assets, liabilities, and owner's equity as of a specific date.

Answer:  TRUE
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18) Increases in owner's equity result from revenues and owner investments while decreases result from expenses and owner withdrawals.

Answer:  TRUE
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19) An income statement is dated for a period of time such as "For the Year Ended December 31, 2010."

Answer:  TRUE
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20) The income statement must be prepared before the statement of owner's equity since net income or net loss is added to or subtracted from the beginning balance in the owner's capital account.

Answer:  TRUE
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21) The income statement presents a summary of an entity's revenues and liabilities over a period of time.

Answer:  FALSE
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22) The income statement shows how much the cash account either increased or decreased during the period.

Answer:  FALSE
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23) Which of the following users of accounting information seek to assess the organization's ability to make scheduled payments?

A) creditors

B) taxing authorities

C) government regulatory agencies

D) employees

Answer:  A
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24) The Accounting Standards Board is responsible for establishing:

A) the Canadian Institute of Chartered Accountants

B) generally accepted accounting principles

C) the code of professional conduct for accountants

D) the Securities and Exchange Commission

Answer:  B
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25) All of the following are forms of business organizations except:

A) proprietorship

B) partnership

C) corporation

D) governmental unit

Answer:  D
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26) Which of the following forms of business organizations protect the personal assets of the owners from creditors of the business?

A) proprietorship

B) partnership

C) corporation

D) corporation and partnership

Answer:  C
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27) Which of the following is not addressed by rules of professional conduct?

A) competence

B) confidentiality

C) number of clients

D) compliance with professional standards

Answer:  C
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28) The Sarbanes-Oxley Act became law in response to

A) high profits of publicly traded companies

B) exorbitant fees charged by public accounting firms

C) unethical behaviour that caused huge accounting scandals

D) investor demands for increased control over private companies

Answer:  C
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29) According to GAAP, the primary objective of financial reporting is to provide information:

A) to the federal government

B) about the profitability of the business

C) regarding the cash flows of the business

D) useful for making investment decisions and for assessing management's stewardship

Answer:  D
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30) GAAP stands for:

A) generally accepted auditing practices

B) generally accrued auditing procedures

C) generally accepted accounting principles

D) generally accrued accounting principles

Answer:  C
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31) According to GAAP, to be useful, accounting information must be all of the following except:

A) relevant

B) comparable

C) subjective

D) reliable

Answer:  C

Diff: 2
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32) Which of the following statements is false?

A) Reliable data are verifiable.

B) Reliable data may be supported by objective evidence.

C) Owner opinions are one source of objective evidence.

D) An independent appraisal is usually considered reliable.

Answer:  C

Diff: 2
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33) The principle that states that assets acquired by the business should be recorded at their exchange price is the:

A) objectivity principle

B) cost principle of measurement

C) revenue-recognition principle

D) matching principle

Answer:  B
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34) The qualitative characteristic that states that accounting records and statements are based on the most reliable data available so they are are as accurate and useful as possible.

A) Reliability 

B) Relevance

C) Comparability

D) Understandability

Answer:  A
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35) The relevant measure of value of the assets of a company that is going out of business is their:

A) current market value

B) book value

C) historical cost

D) higher of historical cost or current market value

Answer:  A

Diff: 2
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36) Which of the following statements is true?

A) The value of a dollar changes over time.

B) German accountants record transactions in dollars.

C) The stable-monetary-unit concept requires adjustments to the accounting records for the effects of inflation.

D) High inflation rates indicate a dollar's purchasing power is stable.

Answer:  A

Diff: 2
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37) The accounting equation can be stated as:

A) Assets = Liabilities - Owner's Equity

B) Assets - Liabilities = Owner's Equity

C) Liabilities = Assets + Owner's Equity

D) Owner's Equity = Assets + Liabilities

Answer:  B

Diff: 1
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38) Liabilities are:

A) insider claims to the business's assets

B) outsider claims to the business's assets

C) economic resources of a business

D) increases in owner's equity earned by delivering goods or services

Answer:  B
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39) Owner's equity is an:

A) insider claim to the business's assets

B) outsider claim to the business's assets

C) economic resources of a business

D) obligation to pay cash in the future

Answer:  A
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40) All of the following are assets except:

A) land

B) cash

C) merchandise inventory

D) owner withdrawals

Answer:  D

Diff: 1
Page Ref: 13

41) All of the following describe a liability except:

A) investments by owners

B) economic obligations to creditors

C) debts to creditors

D) outsider claims

Answer:  A
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42) A promise by a customer to pay cash in the future is a(n):

A) account receivable

B) liability

C) prepaid asset

D) note payable

Answer:  A
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43) If owner's equity is $135,000 and total liabilities are $90,000, then total assets would be:

A) $45,000

B) $225,000

C) $90,000

D) $135,000

Answer:  B
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44) Owner's equity and total assets were $32,000 and $79,000 respectively at the beginning of the period. Assets increased 50% and liabilities decreased 60% during the period. What is owner's equity at the end of the period?

A) $47,000

B) $43,300

C) $99,700

D) $105,700

Answer:  C

Diff: 3
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45) Total assets and total liabilities were $31,000 and $26,000 respectively at the beginning of the period. Assets increased by 20% and liabilities increased by 10% during the period. What is the owner's equity at the end of the period?

A) $8,600

B) $65,800

C) $290

D) $5,000

Answer:  A
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46) A business paid $8,500 to a creditor. The effect of this transaction is to:

A) increase assets and decrease liabilities

B) increase assets and decrease owner's equity

C) decrease liabilities and owner's equity

D) decrease assets and decrease liabilities

Answer:  D
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47) If total liabilities decrease by $22,000 and owner's equity increases by $8,000 during the period, then assets must have:

A) increased $30,000

B) decreased $30,000

C) increased $14,000

D) decreased $14,000

Answer:  D

Diff: 3
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48) If total liabilities are $98,000 and owner's equity is $150,000, total assets would be:

A) $52,000

B) $248,000

C) $98,000

D) $300,000

Answer:  B
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49) If owner's equity is $200,000 and total assets are $325,000, total liabilities would be:

A) $200,000

B) $525,000

C) $125,000

D) $325,000

Answer:  C
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50) Earning revenue on account:

A) decreases assets

B) increases liabilities

C) decreases owner's equity

D) increases owner's equity

Answer:  D

Diff: 2
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51) The amount owed by an entity when it makes a purchase on account is termed a(n):

A) accounts receivable

B) accounts payable

C) note receivable

D) note payable

Answer:  B
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52) On December 31, the assets of a business include: Cash, $3,500, Accounts Receivable, $14,000, and Supplies, $1,050. The liabilities on December 31 total $7,600. The owner's equity on December 31 is:

A) $18,550

B) $25,100

C) $10,950

D) $11,100

Answer:  C

Diff: 2
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53) Purchasing office equipment on account would:

A) decrease owner's equity

B) increase owner's equity

C) have no effect on owner's equity

D) decrease liabilities

Answer:  C

Diff: 3
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54) Purchasing a parcel of land for $100,000 by paying $10,000 in cash and signing a promissory note for the remainder would:

A) decrease owner's equity by $90,000

B) increase owner's equity by $10,000

C) decrease liabilities by $90,000

D) increase total assets by $90,000

Answer:  D

Diff: 3
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55) Collection of an account receivable would:

A) decrease liabilities

B) have no effect on owner's equity

C) decrease owner's equity

D) increase total assets

Answer:  B

Diff: 3
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56) The payment of an account payable would:

A) increase owner's equity

B) decrease owner's equity

C) have no effect on total assets

D) have no effect on owner's equity

Answer:  D

Diff: 3
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57) Transactions affecting owner's equity include:

A) owner withdrawals and owner investments

B) purchases of assets for cash

C) purchases of assets on account

D) only owner investments

Answer:  A

Diff: 2
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58) Borrowing money from a bank would:

A) have no effect on owner's equity

B) decrease assets

C) decrease liabilities

D) increase revenues

Answer:  A

Diff: 2
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59) Earning a revenue and immediately collecting the related cash would:

A) decrease total assets

B) have no effect on owner's equity

C) have no effect on total assets

D) increase owner's equity

Answer:  D

Diff: 2
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60) Earning a revenue on account would:

A) have no effect on owner's equity

B) increase owner's equity

C) decrease owner's equity

D) decrease total assets

Answer:  B

Diff: 2
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61) Earning a revenue on account would:

A) have no effect on liabilities

B) decrease owner's equity

C) increase accounts receivable

D) decrease total assets

Answer:  C

Diff: 2
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62) The payment of rent each month for office space would:

A) increase total assets

B) increase owner's equity

C) decrease liabilities

D) increase expenses

Answer:  D

Diff: 2
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63) A cash investment into the business by the owner would:

A) increase liabilities and increase owner's equity

B) increase total assets and decrease owner's equity

C) increase owner's equity and increase total assets

D) increase total assets and decrease liabilities

Answer:  C

Diff: 2
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64) An owner investment of office furniture into the business would:

A) decrease owner's equity and decrease liabilities

B) increase total assets and increase liabilities

C) increase owner's equity and increase total assets

D) decrease owner's equity and increase liabilities

Answer:  C

Diff: 2
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65) Purchasing office equipment on account would:

A) increase total assets and increase liabilities

B) increase total assets and decrease owner's equity

C) have no effect on total assets or liabilities

D) increase liabilities and decrease owner's equity

Answer:  A

Diff: 2
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66) Purchasing supplies for cash would:

A) decrease total assets and decrease owner's equity

B) increase total assets and increase liabilities

C) decrease liabilities and decrease total assets

D) have no effect on total assets

Answer:  D

Diff: 2
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67) Purchasing a building for $120,000 by paying cash of $30,000 and obtaining a mortgage for $90,000 would:

A) increase assets and increase liabilities by $90,000

B) increase owner's equity by $90,000

C) increase liabilities by $30,000

D) decrease assets and decrease liabilities by $30,000

Answer:  A

Diff: 3
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68) Purchasing a building for $150,000 by paying cash of $30,000 and obtaining a mortgage for $120,000 would:

A) increase assets and liabilities by $120,000

B) increase liabilities by $120,000

C) increase liabilities by $30,000

D) decrease assets and liabilities by $120,000

Answer:  B

Diff: 3
Page Ref: 15

69) Receiving cash from a customer in payment of an account receivable would:

A) decrease total assets and increase owner's equity

B) increase owner's equity and increase liabilities

C) increase total assets and decrease liabilities

D) have no effect on total assets or owner's equity

Answer:  D

Diff: 2
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70) A cash payment of an account payable would:

A) decrease total assets and decrease owner's equity

B) increase total assets and decrease liabilities

C) have no effect on total assets

D) decrease liabilities and decrease assets

Answer:  D

Diff: 2
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71) A withdrawal of cash for personal use by an owner would:

A) decrease total assets and decrease owner's equity

B) increase owner's equity and increase liabilities

C) decrease total assets and increase owner's equity

D) increase total assets and decrease owner's equity

Answer:  A

Diff: 2
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72) Borrowing money and signing a note payable would:

A) increase total assets and increase liabilities

B) decrease liabilities and increase total assets

C) increase liabilities and increase owner's equity

D) increase total assets and increase owner's equity

Answer:  A

Diff: 2
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73) Receiving cash for services performed the same day would:

A) increase owner's equity and decrease total assets

B) decrease total assets and decrease liabilities

C) increase liabilities and increase total assets

D) increase owner's equity and have no effect on liabilities

Answer:  D

Diff: 2
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74) A business receives its bill for utilities for the current month that it plans to pay next month when the payment is due. This transaction causes:

A) an increase in both assets and owner's equity

B) a decrease in both owner's equity and liabilities

C) an increase in both assets and liabilities

D) an increase in liabilities and a decrease in owner's equity

Answer:  D

Diff: 3
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75) Performing a service on account would:

A) increase liabilities and decrease total assets

B) decrease liabilities and increase total assets

C) increase owner's equity and decrease liabilities

D) increase total assets and increase owner's equity

Answer:  D

Diff: 2
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76) Collecting cash on account causes:

A) assets to increase and owner's equity to decrease

B) assets to increase and liabilities to increase

C) assets to increase and owner's equity to increase

D) no change in total assets

Answer:  D

Diff: 3
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77) A business acquires a parcel of land by issuing a note payable for $50,000. This transaction causes:

A) total assets to increase

B) owner's equity to increase

C) assets to increase and equity to increase

D) liabilities to decrease

Answer:  A

Diff: 2
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78) Which of the following transactions would increase an asset and increase owner's equity?

A) payment of a note payable

B) receipt of cash in payment of an account receivable

C) owner investment of land into the business

D) payment of the telephone bill

Answer:  C

Diff: 2
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79) Which of the following transactions would both increase and decrease an asset?

A) purchasing equipment for cash

B) borrowing money from a bank

C) performing a service and receiving the cash immediately

D) purchasing office supplies on account

Answer:  A

Diff: 2
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80) Which of the following transactions would increase an asset and increase a liability?

A) payment of an account payable

B) borrowing money from a bank

C) an owner investment of cash into the business

D) purchasing office equipment for cash

Answer:  B

Diff: 2
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81) Which of the following transactions would increase one asset, decrease another asset, and increase a liability?

A) purchasing supplies and equipment on account

B) paying liabilities incurred last period

C) owner investment of cash and equipment into the business

D) purchasing land with a cash down payment and a note payable

Answer:  D

Diff: 3
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82) Which of the following transactions would have no effect on total assets, total liabilities, or owner's equity?

A) payment of a liability

B) borrowing cash by issuing a note payable

C) purchasing supplies for cash

D) purchasing supplies on account

Answer:  C

Diff: 3
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83) The financial statement that presents a summary of the assets, liabilities, and owner's equity as of a specific date is the:

A) statement of assets

B) balance sheet

C) statement of owner's equity

D) cash flow statement

Answer:  B

Diff: 1
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84) The statement that presents a summary of the revenues and expenses of an entity is called the:

A) statement of owner's equity

B) statement of financial position

C) income statement

D) balance sheet

Answer:  C

Diff: 1
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85) The income statement presents a summary of the:

A) cash inflows and outflows of an entity

B) revenues and expenses of an entity

C) assets and liabilities of an entity

D) changes that occurred in the owner's equity of an entity

Answer:  B

Diff: 1
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86) Which of the following financial statements reports owner's equity as of the end of the accounting period?

A) income statement and the balance sheet

B) cash flow statement and the balance sheet

C) statement of owner's equity and the balance sheet

D) cash flow statement and the income statement

Answer:  C

Diff: 2
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87) Which of the following statements should be prepared before the balance sheet is prepared?

A) statement of owner's equity

B) statement of financial position

C) income statement

D) statement of owner's equity and income statement

Answer:  D

Diff: 3
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88) Assets are reported on the:

A) income statement

B) income statement and balance sheet

C) statement of owner's equity

D) balance sheet

Answer:  D

Diff: 1
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89) Liabilities are reported on the:

A) statement of owner's equity

B) income statement

C) statement of owner's equity and the income statement

D) balance sheet

Answer:  D

Diff: 1
Page Ref: 20

90) Determine net income for the period if beginning owner's equity is $20,000, cash withdrawals by the owner amount to $7,000, and ending owner's equity is $37,000.

A) $10,000

B) $27,000

C) $24,000

D) $13,000

Answer:  C

Diff: 3
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91) If beginning capital was $25,000, ending capital is $37,000, and the owner's withdrawals were $23,000, the amount of net income or net loss for the period was:

A) net loss of $35,000

B) net income of $35,000

C) net income of $14,000

D) net loss of $14,000

Answer:  B

Diff: 3
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92) Determine cash withdrawals for the period if net income is $34,000, beginning owner's equity is $29,000, and ending owner's equity is $45,000.

A) $74,000

B) $5,000

C) $11,000

D) $18,000

Answer:  D

Diff: 3
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93) Total assets at the end of the period were $330,000 and liabilities were 25% of owner's equity. Determine owner's equity at the end of the period.

A) $264,000

B) $132,000

C) $462,000

D) $825,000

Answer:  A

Diff: 3
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94) Cash investments by the owner are reported on the:

A) balance sheet

B) income statement

C) cash flow statement

D) income statement and the balance sheet

Answer:  C

Diff: 3
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Table 1-1

Following is a random list showing the account balances of various assets, liabilities, revenues and expenses for Spiffy's Garage at December 31, 2010, the end of its first year of operations.


Accounts receivable
$15,000


Accounts payable 
3,500


Salary expense
4,500


Repairs expense  
800


Truck  

8,500


Equipment

6,300


Notes payable
8,200


Cash


6,800


Supplies expense
1,600


Service revenue
12,800


Gasoline expense
800


Salary payable
2,200

The owner, Spiffy Sloan, invested $22,600 at the beginning of the year and withdrew $5,000 during the year for personal use.

95) Refer to Table 1-1. The net income or loss for the year was:

A) $12,800

B) $5,100

C) $5,900

D) $7,700

Answer:  B

Diff: 2
Page Ref: 22

96) Refer to Table 1-1. Total assets at December 31, 2010, were:

A) $31,600

B) $32,700

C) $36,200

D) $36,600

Answer:  D

Diff: 2
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97) Refer to Table 1-1. Owner's equity at December 31, 2010, was:

A) $13,900

B) $22,700

C) $22,600

D) $18,700

Answer:  B

Diff: 2
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98) Refer to Table 1-1. The statement of owner's equity would show an ending capital balance of:

A) $36,600

B) $3,900

C) $22,700

D) $22,600

Answer:  C

Diff: 3
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99) Refer to Table 1-1. Total liabilities at December 31, 2010, were:

A) $12,800

B) $13,900

C) $20,600

D) $22,600

Answer:  B

Diff: 2
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100) Refer to Table 1-1. The net change in owner's equity for the year ended December 31, 2010, was:

A) an increase of $7,800

B) a decrease of $7,800

C) an increase of $13,900

D) an increase of $100

Answer:  D

Diff: 2
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101) Refer to Table 1-1. The net income or loss for the year was:

A) $12,800

B) $5,100

C) $5,900

D) $7,700

Answer:  B

Diff: 2
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Table 1-2

Following is a random list showing the account balances of various assets, liabilities, revenues and expenses for Tim's Landscaping at December 31, 2010, the end of its first year of operations.


Accounts receivable
$30,000


Accounts payable 
7,000


Salary expense
9,000


Repairs expense  
1,600


Truck  

17,000


Equipment

12,600


Notes payable
16,400


Cash


13,600


Supplies expense
3,200


Service revenue
25,600


Gasoline expense
1,600


Salary payable
4,400

The owner, Tim Brown, invested $45,200 at the beginning of the year and withdrew $10,000 during the year for personal use.

102) Refer to Table 1-2. The net income or loss for the year was:

A) $10,200

B) $25,600

C) $11,800

D) $15,400

Answer:  A

Diff: 2
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103) Refer to Table 1-2. The statement of owner's equity would show an ending balance in the Capital account at December 31, 2010 of:

A) $73,200

B) $7,800

C) $45,400

D) $45,200

Answer:  C

Diff: 2
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104) Refer to Table 1-2. The net change in owner's equity for the year ended December 31, 2010, was 

A) an increase of $200

B) an increase of $27,800

C) an increase of $15,600

D) a decrease of $15,600

Answer:  A

Diff: 2
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105) Refer to Table 1-2. Total liabilities at December 31, 2010 was:

A) $25,600

B) $27,800

C) $41,200

D) $45,200

Answer:  B

Diff: 2
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106) Refer to Table 1-2. Total assets at December 31, 2010 was:

A) $65,400

B) $72,400

C) $73,200

D) $63,200

Answer:  C

Diff: 2
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107) Refer to Table 1-2. Owner's equity at December 31, 2010 was:

A) $26,800

B) $45,400

C) $45,200

D) $37,400

Answer:  B

Diff: 2
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108) When are publicly accountable Canadian corporations required to begin using IFRS?

A) immediately

B) 2012

C) 2015

D) 2011

Answer:  D

Diff: 1
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Match the following.

A) liability

B) revenue

C) corporation

D) asset

E) capital

F) transaction

109) A business owned by shareholders

Diff: 2
Page Ref: all

110) Another name for the owner's equity of a proprietorship

Diff: 2
Page Ref: all

111) An event that affects the financial position of a particular entity and can be reliably recorded

Diff: 2
Page Ref: all

112) An increase in owner's equity that is earned by delivering goods or services to customers

Diff: 2
Page Ref: all

113) An economic resource that is expected to be of benefit in the future

Diff: 2
Page Ref: all

114) An economic obligation payable to an individual or an organization outside of the business

Diff: 2
Page Ref: all

Answers: 109) C 110) E 111) F 112) B 113) D 114) A

For the items listed below, choose the appropriate code letter to indicate whether the item is an asset, liability, or owner's equity item:


Asset

A


Liability
L


Owner's Equity
OE

A) A

B) OE

C) L

115) Accounts receivable



Diff: 1
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116) Office supplies

Diff: 1
Page Ref: 22

117) Truck

Diff: 1
Page Ref: 22

118) Don Smith, Capital

Diff: 1
Page Ref: 22

119) Salary payable

Diff: 1
Page Ref: 22

120) Note payable

Diff: 1
Page Ref: 22

121) Cash


Diff: 1
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122) Land

Diff: 1
Page Ref: 22

123) Accounts payable

Diff: 1
Page Ref: 22

124) Office furniture

Diff: 1
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Answers: 115) A 116) A 117) A 118) B 119) C 120) C 121) A 122) A 123) C 124) A

Match the following.

A) generally accepted accounting principles

B) accounting

C) proprietorship
D) expense

125) The system that measures business activities and processes information into reports

Diff: 2
Page Ref: all

126) An entity with a single owner

Diff: 2
Page Ref: all

127) Guidelines that govern how businesses report their financial statements to the public

Diff: 2
Page Ref: all

128) A decrease in owner's equity that occurs in the course of delivering goods or services to customers

Diff: 2
Page Ref: all

Answers: 125) B 126) C 127) A 128) D

129) Describe the three forms of organizations and how they differ.

Answer:  A proprietorship has a single owner whereas a partnership has two or more individuals together as co-owners. In both of these forms of organization, the owners are individually liable for the debts of the business. A corporation is a business owned by shareholders, who may or may not have a part in the day-to-day operations of the business. The shareholders of a corporation are not legally liable for the debts of the business, and it is easier to transfer the ownership of a corporation than a proprietorship or partnership.

Diff: 2
Page Ref: 7

130) Describe how the accounting equation can be used to analyse business transactions.

Answer:  A transaction is an event that affects the financial position of an entity. and can be reliably recorded. Transactions affect a business's assets, liabilities and owner's equity. Therefore, transactions are often analysed in terms of their effect on the accounting equation.

Diff: 3
Page Ref: 14

131) Provide the accounting equation.

Answer:  Assets = Liabilities + Owner's Equity

Diff: 1
Page Ref: 13

132) List and define three generally accepted accounting concepts/principles discussed in Chapter 1.

Answer:  Economic-Entity Assumption - An accounting entity is an organization or a section of an organization that stands apart from other organizations and individuals as a separate economic unit. From an accounting perspective, sharp boundaries are drawn around each entity so as not to confuse its affairs with those of other entities.

+ Reliability characteristic - Accounting records and statements are based on the most reliable data available so that they will be as accurate and as useful as possible.

+ Cost principle of measurement - States that acquired assets and services should be recorded at their actual cost. The cost of an asset should be maintained in the accounting records for as long as the business holds the asset.

+ Going-Concern Assumption - Holds that the entity will remain in operation for the foreseeable future.

+ Stable-Monetary-Unit Assumption- Assumes that the dollar's purchasing power is relatively stable and thus ignores the effect of inflation in the accounting records.

Diff: 2
Page Ref: 9-12

133) Determine the expenses for the current period based on the following data:


Net income for the current period
$55,000


Ending owner's equity
85,000


Beginning owner's equity
49,000


Owner withdrawals 
19,000


Revenue for the current period
96,000

Answer:  
Revenue - net income = expenses

$96,000 - $55,000 = $41,000

Diff: 2
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134) Determine the expenses for the current period based on the following data:


Net income for the current period
$15,000


Ending owner's equity
45,000


Beginning owner's equity
40,000


Owner withdrawals 
10,000


Revenue for the current period
90,000

Answer:  
Revenue - net income = expenses

$90,000 - $15,000 = $75,000

Diff: 2
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135) Selected transactions for Sarah's Kitchen are shown below. State the effect on the accounting equation of each transaction.

a)  Sarah Cook invests $20,000 cash into a business known as Sarah's Kitchen.

b)  Sarah purchases kitchen supplies on account for $500.

c)  Sarah purchases a new oven for $6,500 cash.

d)  Sarah receives and pays the kitchen's utilities bill amounting to $425.

e)  Kitchen revenue for the current period amounts to $2,500. (all revenue transactions involved cash)

	Item
	Assets
	Liabilities
	Owner's Equity

	a)
	
	
	

	b)
	
	
	

	c)
	
	
	

	d)
	
	
	

	e)
	
	
	

	Totals
	
	
	


Answer:  

	Item
	Assets
	Liabilities
	Owner's Equity

	a)
	20,000
	
	20,000

	b)
	    500
	500
	

	c)


	  6,500

  (6,500)
	
	

	d)
	    (425)
	
	(425)

	e)
	  2,500
	
	2,500

	Totals
	22,575
	500
	22,075


Diff: 2
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136) Selected transactions for Mac's Garage are shown below. State the effect on the accounting equation of each transaction.

a)  George McGuire invests $4,000 cash into a business known as Mac's Garage.

b)  George purchases supplies on account for $300.

c)  George purchases a new welder for $1,500 cash.

d)  George receives the garage's telephone bill amounting to $100 to be paid next month.

e)  George withdraws $200 cash for personal use.

f)  Garage revenue for the current period amounts to $2,500. (all revenue 

transactions involved cash)

	Item
	Assets
	Liabilities
	Owner's Equity

	a)
	   
	
	

	b)
	
	
	

	c)
	
	
	

	d)
	
	
	

	e)
	
	
	

	f)
	
	
	

	Totals
	
	
	


Answer:  

	Item
	Assets
	Liabilities
	Owner's Equity

	a)
	4,000
	
	4,000

	b)
	    300
	300
	

	c)


	  1,500

  (1,500)
	
	

	d)
	    
	100
	(100)

	e)
	  (200)
	
	(200)

	f)
	2,500
	
	2,500

	Totals
	6,600
	400
	6,200


Diff: 2
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137) Assets and liabilities for Stan's Garage at the beginning and end of the current accounting period are as follows:



January 1
December 31  

Total assets
$450,000
$690,000

Total liabilities
$325,000
$440,000

a)  Determine net income or net loss for the current year. The owner did not invest any additional assets during the year and made no withdrawals.

b)  Determine net income or net loss for the current year. The owner invested an additional $100,000 of assets into the business during the year and made no withdrawals.

Answer:  
a)
Owner's equity at the end of the year
$250,000


Owner's equity at the beginning of the year
125,000

Net income

$125,000
b)
Owner's equity at the end of the year
$250,000


Owner's equity at the beginning of the year
125,000

Increase in owner's equity
125,000


Owner investment

- 100,000

Net income

$ 25,000

Diff: 3
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138) For each of the following events, indicate the amount by which total assets increased or decreased.

a)  Purchased $400 of supplies on account.

b)  Earned $800 of revenue by performing a service for cash.

c)  Received utilities bill for $500, to be paid in the following period.

d)  Paid salaries to employees of $5,000.

e)  Purchased equipment for $1,600 on account.

f)  Purchased equipment for $5,000 cash.

g) Collected $475 from a customer on an account receivable.

h)  Performed $3,000 of services on account.

Answer:  
a)  $400 increase

b)  $800 increase

c)  $0

d)  $5,000 decrease

e)  $1,600 increase

f)  $0

g)  $0

h)  $3,000 increase

Diff: 2
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139) For each of the following events, indicate the amount by which liabilities increased or decreased.

a)  Owner invested cash of $20,000 and equipment valued at $10,500 into the business.

b)  Purchased $600 of supplies on account.

c)  Borrowed $10,000 from the bank, issuing a note payable.

d)  Performed a service for $1,500 and immediately collected the cash.

e)  Paid the employee salaries of $1,200.

f)  Purchased equipment for $550 cash.

g)  Received monthly rent bill of $1,300, to be paid in the following period.

h)  Performed a service on account for $2,300.

Answer:  
a)  $0

b)  $600 increase

c)  $10,000 increase

d)  $0

e)  $0

f)  $0

g)  $1,300 increase

h)  $0

Diff: 2
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140) Following is a list of events for Manning Cleaning for the month of April. Show the effects of these events on the accounting equation by completing the table below.


April 1
Owner invested $10,000 cash and equipment valued at



$25,000 into the business.


3
Purchased $5,500 of equipment on account.


5
Purchased $400 of supplies for cash.


10
Bought a truck, paying $4,000 in cash and signing a note



for $11,000.


14
Performed services for a customer for $1,850 cash.


15
Paid employee wages of $1,200.    


18
Paid $2,000 on the equipment purchased on April 3.


24
Performed services for a customer on account, $2,500.


27
Collected $500 from the customer of April 24.


30
Owner withdrew $900 cash for personal use.

	Date
	Cash
	A/R
	Supp.
	Equip
	Truck
	A/P
	N/P
	Capital

	  Apr. 1
	
	
	
	
	
	
	
	

	3  
	
	
	
	
	
	
	
	

	5  
	
	
	
	
	
	
	
	

	10  
	
	
	
	
	
	
	
	

	14  
	
	
	
	
	
	
	
	

	15  
	
	
	
	
	
	
	
	

	18  
	
	
	
	
	
	
	
	

	24  
	
	
	
	
	
	
	
	

	27  
	
	
	
	
	
	
	
	

	30  
	
	
	
	
	
	
	
	

	Total  
	
	
	
	
	
	
	
	


Answer:  

	Date
	Cash
	A/R
	Supp.
	Equip
	Truck
	A/P
	N/P
	Capital

	  Apr. 1
	10,000
	
	
	25,000
	
	
	
	35,000

	3  
	
	
	
	5,500
	
	5,500
	
	

	5  
	(400)
	
	400
	
	
	
	
	

	10  
	(4,000)
	
	
	
	15,000
	
	11,000
	

	14  
	1,850
	
	
	
	
	
	
	1,850

	15  
	(1,200)
	
	
	
	
	
	
	(1,200)

	18  
	(2,000)
	
	
	
	
	(2,000)
	
	

	24  
	
	2,500
	
	
	
	
	
	2,500

	27  
	500
	(500)
	
	
	
	
	
	

	30  
	(900)
	
	
	
	
	
	
	(900)

	Total  
	3,850
	2,000
	400
	30,500
	15,000
	3,500
	11,000
	37,250


Diff: 2
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141) Following is a list of events for Sterling Moving for the month of January. Show the effects of these events on the accounting equation by completing the table below.


Jan. 1
Owner invested $30,000 cash into the business.


3
Purchased $1,500 of equipment with cash.


5
Purchased $400 of supplies on account.


12
Bought a car, paying $2,000 in cash and signing a note



for $10,000.


14
Performed services for a customer for $1,000 on account.


15
Paid employee wages of $600.    


18
Paid $2,000 on the note payable for the  car purchased on Jan. 12.


24
Performed services for a customer for cash, $2,500.


27
Collected $500 from the customer of Jan. 14.


30
Owner withdrew $400 cash for personal use.

	Date
	Cash
	A/R
	Supp.
	Equip
	    Car
	A/P
	N/P
	Capital

	  Jan.   1
	
	
	
	
	
	
	
	

	3  
	
	
	
	
	
	
	
	

	5  
	
	
	
	
	
	
	
	

	12  
	
	
	
	
	
	
	
	

	14  
	
	
	
	
	
	
	
	

	15  
	
	
	
	
	
	
	
	

	18  
	
	
	
	
	
	
	
	

	24  
	
	
	
	
	
	
	
	

	27  
	
	
	
	
	
	
	
	

	30  
	
	
	
	
	
	
	
	

	Total  
	
	
	
	
	
	
	
	


Answer:  

	Date
	Cash
	A/R
	Supp.
	Equip
	Car
	A/P
	N/P
	Capita

	  Jan.   1
	30,000
	
	
	
	
	
	
	30,000

	3  
	(1,500)
	
	
	1,500
	
	
	
	

	5  
	
	
	400
	
	
	400
	
	

	12  
	(2,000)
	
	
	
	12,000
	
	10,000
	

	14  
	
	1,000
	
	
	
	
	
	1,000

	15  
	(600)
	
	
	
	
	
	
	(600)

	18  
	(2,000)
	
	
	
	
	
	(2,000)
	

	24  
	2,500
	
	
	
	
	
	
	2,500

	27  
	500
	(500)
	
	
	
	
	
	

	30  
	(400)
	
	
	
	
	
	
	(400)

	Total  
	26,500
	500
	400
	1,500
	12,000
	400
	8,000
	32,500


Diff: 2
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142) For each of the following events, indicate the amount by which liabilities increased or decreased.

a)  Owner invested cash of $25,000 and equipment valued at $10,500 into the business.

b)  Purchased $600 of supplies on account.

c)  Borrowed $10,000 from the bank, issuing a note payable.

d)  Performed a service for $1,500 and immediately collected the cash.

e)  Paid the employee salaries of $1,200.

f)  Purchased equipment for $550 cash.

g)  Received monthly rent bill of $1,300, to be paid in the following period.

h)  Performed a service on account for $2,300.

Answer:  
a)  $0

b)  $600 increase

c)  $10,000 increase

d)  $0

e)  $0

f)  $0

g)  $1,300 increase

h)  $0

Diff: 2
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143) For each of the following events, indicate the amount by which assets increased or decreased.

a)  Owner invested cash of $25,000 and equipment valued at $10,500 into the business.

b)  Purchased $600 of supplies on account.

c)  Borrowed $10,000 from the bank, issuing a note payable.

d)  Performed a service for $1,500 and immediately collected the cash.

e)  Paid the employee salaries of $1,200.

f)  Purchased equipment for $550 cash.

g)  Received monthly rent bill of $1,300, to be paid in the following month.

h)  Performed a service on account for $2,300.

Answer:  
a)  $35,500 increase

b)  $600 increase

c)  $10,000 increase

d)  $1,500 increase

e)  $1,200 decrease

f)  $0

g)  $0

h)  $2,300 increase

Diff: 2
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144) For each of the following events, indicate the amount by which owner's equity increased or decreased.

a)  Owner invested cash of $25,000 and equipment valued at $10,500 into the business.

b)  Purchased $600 of supplies on account.

c)  Borrowed $10,000 from the bank, issuing a note payable.

d)  Performed a service for $1,500 and immediately collected the cash.

e)  Paid the employee salaries of $1,200.

f)  Purchased equipment for $550 cash.

g)  Received monthly rent bill of $1,300, to be paid in the following month.

h)  Performed a service on account for $2,300.

Answer:  
a)  $25,000 increase

b)  $0

c)  $0

d)  $1,500 increase

e)  $1,200 decrease

f)  $0

g)  $1,300 decrease

h)  $2,300 increase

Diff: 2
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145) State whether the following accounts are assets, liabilities or owner's equity

a)
______________  Equipment

b)
______________  Capital

c)
______________  Supplies

d)
______________  Accounts payable

e)
______________  Accounts receivable

f)
______________  Wages payable

g)
______________  Cash

Answer:  
a)  asset

b)  owner's equity

c)  asset

d)  liability

e)  asset

f)   liability

g)  asset

Diff: 1
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146) State whether the following accounts would appear on an income statement, balance sheet, or statement of owner's equity.

a)
______________  Equipment

b)
______________  Owner's withdrawals

c)
______________  Utilities expense

d)
______________  Accounts payable

e)
______________  Accounts receivable

f)
______________  Service revenue

g)
______________  Cash

h)
______________  Beginning owner's equity

Answer:  
a)  balance sheet

b)  statement of owner's equity

c)  income statement

d)  balance sheet

e)  balance sheet

f)  income statement

g)  balance sheet

h)  statement of owner's equity

Diff: 1
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147) On January 1, 2010, Brad Thomas invested $30,000 in Thomas Repairs. During 2010, Brad withdrew $17,000 for personal use. Thomas Repairs reports the following balances on December 31, 2010:

Accounts receivable

$  9,000

Accounts payable

4,200

Service revenue

25,550

Land


4,000

Rent expense

4,500

Note payable

3,800

Supplies


900

Brad Thomas, Capital, Jan. 1, 2010
30,000

Salary expense

9,650

Cash


18,500

Brad Thomas, Withdrawals
17,000

Prepare an income statement for the year ended December 31, 2010.

Answer:  
Thomas Repairs


Income Statement


December 31, 2010

Revenue:


Service revenue


$25,550

Expenses:


Salary expense
$9,650


Rent expense
   4,500

Total expenses 


  14,150
Net income


$11,400

Diff: 2
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148) On January 1, 2010, Brad Thomas invested $30,000 in Thomas Repairs. During 2010, Brad withdrew $17,000 for personal use. Thomas Repairs reports the following balances on December 31, 2010:

Accounts receivable

$  9,000

Accounts payable

4,200

Service revenue

25,550

Land


4,000

Rent expense

4,500

Note payable

3,800

Supplies


900

Brad Thomas, Capital, Jan. 1, 2010
30,000

Salary expense

9,650

Cash


18,500

Brad Thomas, Withdrawals
17,000

Prepare a balance sheet dated December 31, 2011, for Thomas Repairs.

Answer:  

Thomas Repairs



   Balance Sheet



December 31, 2011




Assets
Liabilities
Cash

$18,500

Accounts payable
$ 4,200

Accounts receivable
    9,000

Note payable
    3,800
Supplies
 
       900

Total liabilities
$ 8,000

Land

    4,000






Owner's equity




Brad Thomas, Capital
    24,400


 

Total liabilities and

Total assets
 $32,400
owner's equity
 $32,400
Diff: 3
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149) Classify each event below as an operating activity, investing activity, or financing activity.

a)
______________  Owner invested cash into the entity.

b)
______________  Purchased equipment for cash.

c)
______________  Paid salaries of employees.

d)
______________  Collected cash on account and from cash customers.

e)
______________  Paid utilities for the current period.

f)
______________  Borrowed money from the bank.

g) ______________  Pay for interest on bank loan.

h) ______________  Owner withdraws cash from the business for personal use.

Answer:  
a)  financing activity  

b)  investing activity

c)  operating activity

d)  operating activity

e)  operating activity

f)  financing activity

g) operating activity

h) financing activity

Diff: 2
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150) For the following independent situations, determine the amount of net income or net loss.

a)  Revenues for the year were $200,000 and expenses were $103,000. The owner withdrew $40,000 for personal use and made an additional investment of $30,000 during the year.

b)  Revenues for the year were $249,000 and expenses were $136,000. The owner withdrew $55,000 for personal use and made no additional investments.

c)  Revenues for the year were $154,000 and expenses were $189,000. The owner made an additional investment of $90,000 and withdrew $67,000 for personal use.

d) Revenues for the year were $150,000 and expenses were $101,000. The owner made no withdrawals during the year but invested $20,000 cash during the year into the business.

Answer:  
a)  $97,000 net income ($200,000 - $103,000)

b)  $113,000 net income ($249,000 - $136,000)

c)  $35,000 net loss ($154,000 - $189,000)

d) $49,000 net income ($150,000 - $101,000)

Diff: 2
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Table 1-2

Following is a random list showing the account balances of various assets, liabilities, revenues and expenses for Tim's Landscaping at December 31, 2010, the end of its first year of operations.


Accounts receivable
$30,000


Accounts payable 
7,000


Salary expense
9,000


Repairs expense  
1,600


Truck  

17,000


Equipment

12,600


Notes payable
16,400


Cash


13,600


Supplies expense
3,200


Service revenue
25,600


Gasoline expense
1,600


Salary payable
4,400

The owner, Tim Brown, invested $45,200 at the beginning of the year and withdrew $10,000 during the year for personal use.

151) Refer to Table 1-2. Prepare an Income statement for Tim's Landscaping for the year ending December 31, 2010, the end of its first year of operations.

Answer:  

Tim's Landscaping











Income Statement










for the year ended December 31, 2010

Revenue:










Service revenue
 
$25,600 

Expenses:










Salary expense

 $9,000 




Repairs expense 

1,600 




Supplies expense 
 
3,200 




Gasoline expense  
 
1,600 




Total expenses


15,400
Net income
 
 $10,200 

Diff: 3
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152) Refer to Table 1-2. Prepare a statement of owner's equity for Tim's Landscaping for the year ending December 31, 2010, the end of its first year of operations.

Answer:  

Tim's Landscaping









Statement of Owner's Equity


For the Year Ended December 31, 2010

Tim Brown, capital, Jan. 1, 2010
$45,200

Add: Net income for the year
   10,200



55,200

Less: Withdrawals by owner
   10,000
Tim Brown capital, Dec. 31, 2010
$45,400
Diff: 3
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153) Refer to Table 1-2. Prepare a balance sheet dated December 31, 2010, for Tim's Landscaping

Answer:  

Tim's Landscaping



    Balance Sheet



December 31, 2010




Assets
Liabilities
Cash


$13,600
Accounts payable
$ 7,000

Accounts receivable

30,000
Salary payable
4,400

Truck
 

17,000
Note payable
    16,400
Equipment
    12,600
Total liabilities
$ 27,800





Owner's equity




Tim Brown, Capital
    45,400




Total liabilities and

Total assets
 $73,200
owner's equity
 $73,200
Diff: 3
Page Ref: 22

154) Your best friend has asked you to review the financial status of her company before she goes to the bank to request a loan. Answer the following questions:

1) What will you need to review in order to make a sound decision?

2) What will the bank be looking for?

Answer:  
1)  A decision maker would like to have access to all the financial statements of a company for several years, including the income statement, balance sheet, statement of owner's equity, and cash flow statement.

2)  Specifically, the bank will be looking at the company's ability to repay the loan. It will look at the amount of income generated by the company for the past several years as well as whether or not it has been increasing or decreasing. The amount of debt already owed by the company will also be an issue. The bank would like to see that owner's equity exceeds total liabilities at the time of the loan request. Also, the owner's withdrawals should not exceed the net income in any given period.

Diff: 3
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155) Why is Canada, along with most other countries, adopting International Financial Reporting Standards?

Answer:  Many companies do business internationally and also seek to raise capital around the globe. For investors, it is difficult to assess and compare the financial statements of companies that have been prepared using different accounting standards. To address the concerns of international investors, regulatory groups and other interested parties, International Financial Reporting Standards (IFRS) issued by the International Accounting Standards Board have recently been adopted by or are in the process of being adopted by most of the industrialized countries of the world.  Financial statements prepared under a common set of accounting standards (IFRS) will be more useful to decision makers around the globe.

Diff: 3
Page Ref: 24
38
Copyright © 2011 Pearson Education, Inc.


